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o Trere are 5 areen
There are 2 green -

O squares \ shapes |
Y Sauares | Circles | Tota L]
OO (0 e e B
Red Fl E)
O O mEwi—= - >
Usi our two wWay table There aret &
ters n Lotal

To fird a froction
ea What fraction of the items are red? 3 red items

but 8 items in total - =

Balerteaing se. wolr fraction,
decimal percentage equivalence.
knowledae.

U |

This whok curve inclides

100 students vere. questiored i they played badminton or wert to svimming clb
40 vent swirmming, 29 went to badimirton and [ went to both

P (st swinming) - 29

100

|

|

: everyone thal went This whole curve nchides

| Wmmng SWimnng Badmirien | everyone that went to

| Becavse. [ dd both we L~ badmnion

[ cakukite just swimming by Because. |1 dd both v

[ 40- 11 cakulate just badminton

| by A5- 1l

|

| The ntersecton ‘ 46

| representsboth™ | The rumber outside represents those
| Swmming OND badminton that did neither badminton or swimming 100 -

2-11-14



